Efficiency vs hit

00.05

8.045
>

h

[P PR AP I ¥ [ - Feeean

o
o
N
ul
T[T T[T T [T [T [T [ TTTT [ TTeT
T T T T T T T T T

,_
=)

10 15 20 25 30 35 40
TP hits

—=— DQM_mkFit_TT_baseR3_noSel_ok
—e— DQM_mkFit_TT_base_8iter_noSel_ok
[Efficienc] —— DQM_mkFit_TT_Retrainv2_siter_noSel_ok

©0.05

-+

0.95

6 8 10 12 14 16 18 20 22 24
TP layers

Efficiency vs pixel layer

0 0.05F

0O 1 2 3 4 5 6 7 8
TP pixel layers

eff
o
o
=
T T T P T T

0 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


